[ Efficiency vs vertpos |

~ 0.2

CTIRT: SR S— SRR ) -

‘g o
2 0.16F
O -
§0.14f
[ o
£0.12F
0.1F
0.08F
0.06F
0.04f
0.02

Ratio

1H
0.8f---
0.6ff---

OR
1.2ff--++{-

|

1072

Efficiend

10

— I ] —_Global__
—e— DQM_V0001_R000000001__Global

10 0?
TP vertr (cr%)

SSW_CKI__RECO
CMSSW_mkFitOriginal

RECO

—— DQM_V0001_R000000001__Global__CMSSW_mkFitLowPtQuad__RECO

—— DOQM_V0001_R000000001__Global

CMSSW_mkFitLowPtTriplet _ RECO

N 1.2

efticiency vs ver

0.4F--

0.2[--

O

S R ST s B S
s s SO S

S N N

Ratio

[y
TTTT] T

05

=0 10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~n 0.2

>
2.0.18
£
50.16
20.14
o)
20.12
0.1
0.08
0.06

0.04

efticie

R

0

0.0 {ick +p cfsTFodegs - -

Ratio

1

1.2H-14

=270 2 4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


